T™DCOOOO
TDC-TM20160930
TDC-TM20191113 O
T.KONDO

ooobbbooooooonbod

O0000DO00OO0$FORMATI, 200 OSFREQUENCY DO OO DOODOVDIFOOODOODOODODOOOOO

1. 000000o0gon
O00oooOooo‘$ooo

gbbooboooboobooboooobooboobooooooboooooon

000000000000 000000$FORMATIOSFORMAT200000000000000000O000O

ODO00000 Ks5/vVsSpO OO

K5/vSSpP3200 00 0000000000000OOO0OOOOOOO0OOOO

oo‘C'ooooopoogooooog

$EXPCODE
$0BS_NUMBER
$STATION1
$FORMAT1
$XYZ-STATION1
$STATION2
$FORMAT2
$XYZ-STATION2
$BASEID
$FRQ_GRP (1-4)
$FREQUENCY
$PCAL_FREQ
$CLOCK
$SOURCE

$RA

$DEC

$EPOCH

$GHA

$EOP

$START

$STOP
$APRIORI
$END

e Y o o
e e Y o Y
e Y o Y
OO0O0O0OO0O000O000O - OO0 < = 5 e e 110

2. 000000000

$EXPCODE
exp_code
$OBS_NUMBER
n
$STATION1
stationl_name data_file
$FORMAT1

O
—_

gbodgoooboooboood

goooo

gooano

OooooooOd O
O oooooood O
O ooooooo

OUn pgoooooo

O

Oooooooog o
OoOoOooooo O
ooOoOooooo o
Ooooood
OO oo O
OO oo O

DDDDDDDDDDDDSDS
DDDDDDDDDDDDDDD
0O ooooooooofYo

O ooooooo ot
O ooooooo ot
O ooooooo

O ooooo

O

Oooooooooo
OwOoooooooo .

O

Doooooooooog@ ™
DDDDDDDDDDDhD
oooooooooood
oo
O

oooooooon

goooo

gbodoobooooboooban

gboogod

XO0Oooooooooo

XO0O0O Ooooooooo
XOooooooooopooooooooovsspooooooooooooo

data_format [sampling-info] [thread#]



$XYZ-STATION1
TYZ
$STATION2

station2_name data_file
$FORMAT?2

XODOOOODOOOOO dataformat0 00000000 sampling-info
000 000000 thread23 VDIFOOOODOOOOODO
0000000000 VDIFM5B|JOCTAD|ADS

oo

VDIF - VDIFOOOOOO

M5B —Mark-5BO0 00000

OCTAD -OCTADOOOOOO

ADS - ADSOOOCOOO
000000000000000000 (m 000000 (n)00OO
ADOOOO (k)ODOoOOoooOoOoO

mMHz nCH kbit
VDIFOOOOOOOooooOoooooooooobooooooo
0000000000000000000000000000000000
ooo

000000 ()00 ch/OOOOOODOOODOOOOODOOOoOODOOOO
goooooooobooo

THREAD-n
XO0ooooooooooo
XO00O (m) YOO (m) ZOO (m)
YOOOooooooo
YOO OOoOoooooo
YOOOOOOODODODOOOoOoooooovsspOoODooooooooooo

data_format [sampling-info] [thread#]

$XYZ-STATION2
Ty z

$BASEID
baseline_id

$FRQ-GRP(1-4)

n

$FREQUENCY

YOOOOOOODOOO dataformat000000000O0 sampling-info
000 000000 thread23 VDIFOOOOOOOOODO
YOOoooooooooood

XO00O (m) YOO (m) ZOO (m)

O0IbOo0O0O

00 Iboo00o0o0ooooooo

goooooooon

0000ooooo (1-49)00o o

oOooOcHODODOOO

RFOOOODOOO

rf-freq side_band [z-ch [y-ch [pol [(tha-thy)]]]]

$PCAL_FREQ

peal_freq
$CLOCK

000 rffreq— REOODO (Hz)O side-band - 000000 (UL)
z-ch— X OO0 CH#O y-ch—-Y O OO CH#
pol-00D00 (O: XX, YY, RR, RL, ...) ‘- 00000
thx - XOOOOOOO#0VDIFOOOO
thy-YOODOOOOO4#OVDIFOOOO

Och/OOOODOOOODOOOOODDOOOOO
ooooboobOOooOoooo#0000bOObObOOobDOoDboo
godn

PCALOOOCOCOOODO

PCAL 0000 Hz)

ggogooooo



OFST= c_offset
RATE= c_rate
XCOF= zc_offset
$SOURCE
srenam
$RA
hour minute sec
$DEC
deg minute sec
$EPOCH
year
$GHA
hour minute sec
$EOP
UT1-UTC= utimutc
X_WOBB = wobbz
Y_WOBB = wobby
$START
yyyydddhhmmss
$START
yyyydddhhmmss
$APRIORI
PRT=yyyydddhhmmss
TAUO= tau
TAUl= taul
TAU2= tau?2
TAU3= tau3
$END

3. 0gnougooan

O0O0OK5/VSSPOOOOO

000000000 (s)YOOOOoooooooooo
0000000 (s/s)
X0OO0OO0O UTCOO0O (s)
goggoooo
ggogooooo
goooboooogon

goog ooo
goggobooboogo

oo b od
ogooobooooboooa
googogn
gdoobbbooooonon
goog ooo
ogooobooooboooa
UTL-UTC (s)

WobbX (arcsec)

WobbY (arcsec)
gooooooobooo

00000000 UTOO (40)000 (30)00 (20)00 (20)00 (20)0

00000000000

00000000 UTO0OD0000000000
oooooo
PRIOOOOODOOUTOODOOOOOOODDOO
0000 (s)

0000000 (s/s)

000000000 (s/s?)
000000000 (s/s%)
000000000000

** This is Apriori file made by apri_calc Ver. 2016-09-29
*k for cor, cor_all, fx_cor, and fx_cor_all

*k

** SUBNET ON:
*%

PRT is set according to each scan length

*% Clock parameters at run are as follows,

*k Clock Offset (s)
*k Clock Rate (s/s)

**  Clock Epoch
*k
*%

$EXPCODE

: 0.000000
: 0.000000
0000/000 00:00:00

gbooobogooood



KS15002

$0BS_NUMBER O 0ODOO0DOODOOOODOOOOO

1 oobobooooboobooon

$STATION1 ubgxgbbogboodabood

KASHIM11 ./R0020001.dat OO0 XOOODOOO 0O0O0O0O0O0ODO

$XYZ-STATION1 gbooxgbooogboboboobooaod
-3997505.701700 3276878.404550 3724240.703140 OO0 X000 OX Y Z) (m)

$STATION2 gobOyoooobooooo
KOGANEI ./G0020001.dat OOOYOOODOOO 0O0O0OOODO

$XYZ-STATION2 gooydoooooooooooo
-3941937.479090 3368150.907990 3702235.288150 DO O YOOOOX Y Z) (m)

$BASEID [OOO0OO 1DOOO

RG 00000 100000000000
$FRQ_GRP(1-4) 0000000000000

1 000000000000 (1-4)
$FREQUENCY OO0 RFODOOOOODO
7864990000.0 U 000000 (Hz) D0O0O0OO (UIL)
7874990000.0 U

7884990000.0 U

8014990000.0 U

$PCAL_FREQ OO0 PCALOOOO0OOOD
10000.0 000 PCALOOD (Hz)

100000

100000

10000.0

$CLOCK 000000000000
OFST= 0.000000 UOOO00D00O0O0O0O0O
RATE= 0.000000 0000000000

XCOF= 0.000000 OO0 XxO00000 UTCOOO
$SOURCE 0oooo0oooo

3C345 0oooooo

$RA 0000000000000

16 42 58.80996700 UOODOO0OO O OO
$DEC 0000000000000

39 48 36.99406000 0OO0OOO O O)
$EPOCH 000000000000000
2000.0 0oooo0o0o0oo

$GHA 0000000000000000
16 3 23.584000 0O0O0O00 O OO

$EQP 0o0000000000000

$START gobooboobodobod
2015002020000 UO0 YYYYDDDHHMMSS
$sSTOP gbooooboooood
2015002020130 UO0 YYYYDDDHHMMSS
$APRIORI gboooooooo

PRT=2015002020045 U000 PRT YYYYDDDHHMMSS

TAUO= -8.744597367101878e-05 U DO OO OO (s)

TAU1= -1.740376052034359e-08 OO UOOOOOOODO (s/s)

TAU2=  7.147465473084870e-13 OO UOOODOOOODODODO (s/s”2)
O0o0Oooooogd (s/s™3)

g
TAU3=  9.254412615463208e-17 00U 0O
$END gogobobobboogooooboo



** This is Apriori file made by apri_calc Ver. 2016-09-29

*k for
*k

*x SUBNET O
*k

** Clock pa
*k Clock

*k Clock

*k Clock

*k

*k

$EXPCODE
KS15002

?OBS_NUMBER

$STATION1
KASHIM11 ./

$FORMAT1
VDIF

$XYZ-STATIO
-3997505.70

$STATION2
KOGANEI ./G

$FORMAT2
VDIF

$XYZ-STATIO
-3941937 .47

$BASEID
RG

$FRQ_GRP(1-
0

$FREQUENCY

7864990000.
7874990000.
7884990000.
8014990000.
8114990000.
8244990000.
8504990000.
8544990000.
8564990000.
8574990000.
2214990000.
2224990000.
2234990000.
2264990000.
2294990000.
2304990000.

$PCAL_FREQ

10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.
10000.

$CLOCK

[elolololololololololololololele]

.000
.000
XCOF= 0.000

=
5
W)
=

[}
OO

Oo0ovDIFOUOOOODOOoooooooo

cor, cor_all, fx_cor, and fx_cor_all
N: PRT is set according to each scan length

rameters at run are as follows,

Offset (s) : 0.000000
Rate (s/s) : 0.000000
Epoch : 0000/000 00:00:00

R0020001.dat

oooxgoo
0oo vdbIrFQd

N1
1700 3276878.404550 3724240.703140

gboooboooooo
goooogao

0020001.dat
ugboygoooooooobod
goovirdoooooon

N2

9090 3368150.907990 3702235.288150

god

4)
gboobcocoobooboooobooon

* RFfreq U|L <pickup ch# for stationi>
ogoooooooooooooo

[eolelolelololololololololololole)
coccaccaccacaaaa

ubooboodoborecALOOOD0OOO

000
000
000

<pickup ch# for station2>



$SOURCE
3C345

$RA
16 42 58.80996700

$DEC
39 48 36.99406000

$EPOCH
2000.0

$GHA
16 3 23.584000

$START
2015002020000
$STOP
2015002020130

$APRIORI

PRT=2015002020045

TAUO= -8.744597367101878e-05
TAUl= -1.740376052034359e-08
TAU2=  7.147465473084870e-13
TAU3=  9.254412615463208e-17

$END

OO00OMark-5BO0O00O0O0OOO0OO0OOOO

*% This is Apriori file made by apri_calc Ver. 2016-09-29

*k for cor, cor_all, fx_cor, and fx_cor_all
Xk

** SUBNET ON: PRT is set according to each scan length
*k

** Clock parameters at run are as follows,
*k Clock Offset (s) : 0.000000
%%  Clock Rate (s/s) : 0.000000

*k Clock Epoch : 0000/000 00:00:00
*%
%%

$EXPCODE
KS15002

?OBS_NUMBER
$STATION1
KASHIM11 ./R0020001.dat

$FORMAT1
M5B 16MHz 16CH 1bit OO0 Mark-5BU OO0 U00O0O0O0OO0OO0O0OOOOO

$XYZ-STATION1
-3997505.701700 3276878.404550 3724240.703140

$STATION2
KOGANEI ./G0020001.dat

$FORMAT2
M5B 16MHz 16CH 1bit OO0 Mark-5BU OO0 U0O0OO0OO0O0OO0O0OOOOO

$XYZ-STATION2
-3941937.479090 3368150.907990 3702235.288150

$BASEID
RG

gFRQ_GRP(1—4)

$FREQUENCY
7864990000.0 U



7874990000.
7884990000.
8014990000.
8114990000.
8244990000.
8504990000.
8544990000.
8564990000.
8574990000.
2214990000.
2224990000.
2234990000.
2264990000.
2294990000.
2304990000.

$PCAL_FREQ
10000~

10000.
10000.
10000
10000
10000
10000.
10000.
10000.
10000.
10000.
10000.
10000
10000.
10000.
10000.

$CLO§K

[elolololololololololololololele]

=e
=
—]
53]
I
ocoo

$SOURCE
3C345

[elelolololololololololololole)
coccaccaccacaac

.000000
.000000
.000000

$RA
16 42 58.80996700

$DEC
39 48 36.99406000

$EPOCH
2000.0

$GHA

16 3 23.584000

$E
UT1-UTC= 0
X_WOBB = 0

.000000
.000000

0.000000

$START
2015002020000

$STOP
2015002020130

$APRIORI

PRT=2015002020045

TAUO= -8.744597367101878e-05
TAUl= -1.740376052034359e-08
TAU2=  7.147465473084870e-13
TAU3=  9.254412615463208e-17

ooovsseoOo

** This is

*k for
*k

*

O0oo0ooooo vDIFOOOOOoooooooooooooo

Apriori file made by apri_calc Ver. 2016-09-29
cor, cor_all, fx_cor, and fx_cor_all

** SUBNET ON: PRT is set according to each scan length
*

** Clock parameters at run are as follows,

*x Clock

Offset (s) : 0.000000



%%  Clock Rate (s/s) : 0.000000

**  Clock Epoch : 0000/000 00:00:00
*k
*k

$EXPCODE
KS15002

?OBS_NUMBER
$STATION1
KASHIM11 ./R0020001.dat

$XYZ-STATION1
-3997505.701700 3276878.404550 3724240.703140

$STATION2
KOGANEI ./G0020001.dat

$FORMAT2

VDIF

$XYZ-STATION2

-3941937.479090 3368150.907990 3702235.288150
$BASEID

RG

gFRQ_GRP(1—4)

$FREQUENCY
8564990000
8574990000 .
2214990000 .
2224990000 .
$PCAL_FREQ
1000070

gbobORrRrFOO0O0 OODODODOO X000 cH# YO OO CH#

[eolelele)
cccc

OFST= 0.000000
RATE= 0.000000
XCOF= 0.000000

$SOURCE

3C345

$RA

16 42 58.80996700

$DEC
39 48 36.99406000

$EPOCH
2000.0

$GHA
16 3 23.584000

0]
UT1-UTC= 0.000000
X_WOBB = 0.000000
Y_WOBB = 0.000000

$START
2015002020000

$sSTOP
2015002020130

$APRIORI

PRT=2015002020045

TAUO= -8.744597367101878e-05
TAU1= -1.740376052034359e-08
TAU2=  7.147465473084870e-13
TAU3=  9.254412615463208e-17

$END



poovGeoSOOoOOooOvDhIFOOOOOoOOOOOOOOOOD -DOO0DOoOD-

** This is Apriori file made by apri_calc Ver. 2019-06-16
*k for cor, cor_all, fx_cor, and fx_cor_all
*%

** (X clock offset wrt UTC is not reflected to a-priori values)
*k

** SUBNET ON: PRT is set according to each scan length

k%

** Clock parameters at run are as follows,

*k Clock Offset (s) : -4.212500000000000e-04
%%  Clock Rate (s/s) : 0.000000

*k Clock Epoch : 0000/000 00:00:00

Kok

Kok

$EXPCODE

v971ba

$0BS_NUMBER
80

$STATION1
SESHAN13 D:\data\CheckAtSHAO\v9715a\sv/v9715asv_no0080_1.10sec.vdif

$FORMAT1
VDIF 64MHz 8CH 2bit

$XYZ-STATION1
-2831686.993000 4675733.639000 3275327.641000

$STATION2
TIANMA13 D:\data\CheckAtSHAO\v9715a\tv/v9715atv_no0080_1.10sec.vdif

$FORMAT2
VDIF 64MHz 8CH 2bit

$XYZ-STATION2
-2826837.140000 4679223.144000 3274511.526000

$BASEID
SVTV

$FRQ_GRP (1-4)
12

$FREQUENCY

3480400000.
3448400000.
3384400000.
3320400000.
3224400000.
3096400000.
3064400000.
3032400000.

$PCAL_FREQ
0.0

XY <== Q0000 XY

[elelololololele]
[l vl el v e
CO~NOYUIWNI-
CO~NOYUTWNI-
>3
<

[olelolololele]
[elololelolele]

$CLOCK

OFST= 0.000000
RATE= 0.000000
XCOF= 0.000000
$SOURCE

3C273B

$RA

12 29 6.69972950

$DEC
2 3 8.59828500

$EPOCH

2000.0

$GHA

15 59 50.752000
$EOP



$START
2019196085700
$sSTOP
2019196085730

$APRIORI

PRT=2019196085715

TAUO= -4.230495720005300e-04
TAUl= -1.445886059562836e-09
TAU2= 1.006184911623976e-14
TAU3=  7.823024635496742e-18

$END

4. 0O0O0O00OO0O0O0OOoOOon

O0OCOO0OO0OO0O0OOOSFREQUENCY OUOOOODOODODOOOODOOODOODOOOOODODODODOODOOOO
0OXOoOoO0oyOooOoooooooooooooooooooooooooooooooboooboooboooDboo
$PCALFREQUUIUODO0OOUOODOOOOOOOOO

O0016CHOOOO eCHUOODDODOOODO YO CH#OOOOOD

$FREQUENCY

7864990000.
7874990000.
7884990000.
8014990000.
8114990000.
8244990000.

$PCAL_FREQ

[olelolelele)
ccccaca

OB WN—
FNWHOTO

gboobodbpepcALOD0OO0OO

-
o
o
o
o
[eleolololole]

10



